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000 1. 00oooO0obooboobobobobooobooonoo

#include <stdio.h>
#include <math.h>
#define EPS (1.0e—15) /x precision of calculation x/

double func(double x);

/*

/* main function

/
int main(void){
double a, b, c, test;
char temp;

do{
printf(”\ninitial value a = 7);
scanf ("%1{%c” , &a, &temp);

printf(”?initial value b = 7);

scanf ("%1{%c” , &b, &temp);
test=func(a)*func(b);

if(test >= 0){
printf(” bad initial value !! f(a)xf(b)>0\n\n");

}while (test >= 0);

if (b—a < 0){
c=a;
a=b;
b=c;

}

printf(”\nsolution x = %20.15f\n\n” ,c);

return 0;

*/

/* definition function

double func(double x){
double y;

l 0 |

return y;

}
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